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T HAO 3.9 1 12876 : 910 _
- 161 ¥S-01-2016 6.6 6-9 E 96| =5 B 8.5 =45 R 70 =400 2 1716 | =10000] & 166 =500 2
KO 9.8 176.8 1351
221=10-2 ¥S-01-2016 7.4 69 3 L9 =5 2 7.1 =45 ) 108 | =400 | £ 1485 | =10000] £ 210 | =500 =
#AO / / /
2021.10.3 ¥5-01-2016 / 50 E 7 =5 = / =45 2 / =400 7 / =10000 = / =500
— #EAO 10 196.9 1633
- 10- WS-01-2016 7.2 69 E 3.8 =5 £ 2.6 =45 2 74 =100 = 1038 | =10000| A& 128 =500 £
—_— LN 10.1 149 685
g WS—01-2016 7.2 69 E 2.2 =5 B2 5.5 =45 2 105 =400 = 1841 | =10000| & 120 =500 2
—— RO 10 205.9 1970
T WS-01-2016 ra 69 = 2.7 =5 = 6.4 =45 = 85 =400 = 1991 =10000 = 151 =500 i
F /
2021.10. 7 HAKD , S 4 5 > 5 = = . = = =
WS—01-2016 / 69 = / =5 £ / =45 = 7 =400 2 / =10000| & / =500 7
2021. 10. 8 EARD 4
v &l WS—01-2016 7.2 69 2 4.3 =5 B 8.1 =45 2 85 =400 2 2707 | =10000] & 190 =500 2
S % KO 10 223.8 2439
s ¥S-01-2016 7.2 59 2 46 =5 2 12.1 =45 2 72 =400 £ 3536 | =10000| =& 221 =500 =
#RO / / /
2021.10.10 ¥5-01-2016 / 69 2 | ited | =5 2 / =45 E / =400 £ 7 [ =10000] =& =500 5
#AKO / / /
2021.10.11 Ws-01-2016 7.2 69 2 3.9 =5 7 5.2 | =45 i 134 | =400 5 3252 | =10000] & 177 | =500 =
RO 9.6 114 685
2021.10.12 WS—01-2016 7id 6-9 £ 2.7 =5 £ 9 =45 R 158 | =400 £ 3239 | =10000| & 106 | =500 =
# k0 / / /
2021.10.13 ¥5-01-2016 / 69 = / =5 2 / =45 £ / =400 R =10000] & / =500 E
Ly 48! / / /
2021.10.14 WS-01-2016 73 6-9 7 2.2 =5 L 9.6 =45 B 147 =400 & 6077 = 10000 s 491 =500 =
0.15 KO / / /
2021. 10. WS-01-2016 7 6-9 i 2.5 =5 It 8 =45 1 110 =400 K 4783 | =10000] & 211 =500 2
g KO 10 103 531
2021. 10. W5—01-2016 7.3 6-9 iz 16 =5 i 5.5 =15 & 85 =100 B 2091 | =10000| & 116 =500 2
0.17 L/ 48| / / /
2021. 10 WS-01-2016 7.1 6-9 2 1.1 =5 i 6.2 =45 A 84 =400 & 7331 | =10000] & 447 =500 b
8 it KA / / /
2021.10.1 WS—01-2016 7 6-9 jE 1.6 =5 Ji: 18 =15 2 111 =400 A 5303 | = 10000 i 130 =500 H
—— [ Wk / / :
2021. 10. WS-01-2016 7553 6-9 Ji ER A =5 Jik 2.4 =45 A 75 =400 & 2546 | =10000 A 7 =500 =
54 it K0 / / /
2021. 10 WS-01-2016 ) 6-9 I 1.2 =5 )i 5.9 =45 Ak 76 =400 K 2987 | =10000] & 7 =500 £
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2021.10. 21 ST 5 I 3.9 =5 I 35 =415 2 98 =400 2 2851 | =10000| R 68 =500
#AD | 4~ /
2021.10. 22 WS-01-2016 4 - 7.1 6-9 . B R =5 R 7.4 =45 i 102 =400 i 1704 =10000 = 61 =500
A0 T ~ W, /
2021.10. 23 ¥S-01-2016 795 =65 \ 3 0.3 =5 I 8.7 =45 R 84 =400 5 3420 =10000 = 155 =500
KO | 4
2021.10. 24 ¥S-01-2016 ) 69 g 1.4 =5 i 1.2 | =45 I 76 =400 | 2179 | =10000| R 78 =500
) it A O / /
2021.10. 25 ¥S-01-2016 T3 59 = 9 =5 X 10.3 =45 2 74 =400 2 1416 | =10000 £ 74 =500
#A O / /
9 27
2021-10.28 ™5 01-2018 6o | 69 | = 11| =5 E 38 | =45 | ® T4 | =a0 | E | o4 [=10000] & 22 | =500
2021. 10. 27 e : :
e ¥S-01-2016 7.1 6-9 £ | ki | =5 £ 5.2 =45 £ 98 =400 = 687 | =10000) # 22 =500
2021. 10. 28 A0 11.9 150. 4 304
o WS-01-2016 7.3 69 2 1.7 =5 2 11.9 =45 5 78 =400 i 631 | =10000| + 71 =500
2021. 10. 29 g I8 l . :
T WS-01-2016 7.3 6-3 . L it =5 P 4.9 =45 = 9 =400 £ 526 =10000 = 73 =500
g, ] / / /
9
2021.10.30 ¥5-01-2016 7.4 59 = 3 =5 i 17.3 | =45 2 60 =400 B 526 | =10000] & | 61 =500
13 7K / /
2021. 10. 31 _ErcE = ! E. 5 = ~ = 5 [ = 5
WS—01-2016 7.4 60 £ 0.6 =5 £ 6.8 =45 £ / =400 = 881 | =10000] & | / | =500 72
E: /RARTCHME, WS-01-2016 F9isAdEE O.
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